7352 PR

1 AU EE R IR F AN~ m B B 8RR B B BAN, WRVARIEEFTE. REMMRINAG B E
AIFNOEMEEZ, BITEZERR,

2 AT AP EIBRF M R R XEIRFMEIPENE, HENESWEIAFEIR, ZFXT
ZERMEREN, FNBAEEEEIRLENFY, BIGEEUEXERASEUER
BERBENER.

3AULRMHA S RER, KRB ANEAZFNECAENOERESE, HNEEFETHE
MENES, BiIGREMHIEHEHIRT,

AMBESRNBER, BRI EEImarketing@iczoom.com, TRUBINE “SIEFM” FHE

Read Statement

1. The datasheets and other product information on the site are all from network ref-
erence or other public materials, and the copyright belongs to the original author and
original published source. If readers and copyright owners have any objections,
please contact us and we will deal with it in a timely manner.

2. The Chinese datasheets provided on the website is a Chinese translation of the En-
glish datasheets. Its purpose is for reader’ s learning exchange only and do not in-
volve commercial purposes. The translation cannot be automatically updated with
the original manuscript, and there may also be improper translations. Readers are
advised to use the English manuscript as a reference for more accurate information.

3. All product information provided on the website refer to solutions from manufac-
turers’ technical support or users the contents may have differences in description,
and readers are advised to take the original article as the standard.

4. If you have any questions, please contact us at marketing@iczoom.com and mark
the subject with “Datasheets” .

Downloaded from www.iczoom.com



pescripTion:  4-40 FEMALE SCREWLOCKS |

.187 ACROSS FLATS

4-40 UNC-28B ]
A00MINDEEP . |
A
4-40 UNC2A— E= i

K\u

FLAT WASHERS

SPLIT LOCK WASHER @—E‘;I

4-40 HEX NUT @—+1 0

MATERIAL: STEEL

KIT INCLUDES:
(1) 4-40 FEMALE SCREWLOCK

(2) FLAT WASHERS
(1) LOCK WASHER
(1) 4-40 NUT

PART NUMBER A B PLATING

160-000-010-041 KIT 0.187 0.312 YELLOW CHROMATE
160-000-010-042 BULK 0.187 0.312 YELLOW CHROMATE
160-000-011-041 KIT 0.187 0.625 YELLOW CHROMATE
160-000-011-042 BULK 0.187 0.625 YELLOW CHROMATE
160-000-012-041 KIT 0.250 0.156 YELLOW CHROMATE
160-000-012-042 BULK 0.250 0.156 YELLOW CHROMATE
160-000-013-041 KIT 0.197 0.197 YELLOW CHROMATE
160-000-013-042 BULK 0.197 0.197 YELLOW CHROMATE
160-000-014-041 KIT 0.197 0.236 YELLOW CHROMATE
160-000-014-042 BULK 0.197 0.236 YELLOW CHROMATE
160-000-015-041  KIT  0.197 0.323 YELLOW CHROMATE
160-000-015-042 BULK 0.197 0.323 YELLOW CHROMATE
160-000-016-041 KIT 0.197 0.433 YELLOW CHROMATE
160-000-016-042 BULK 0.197 0.433 YELLOW CHROMATE
160-000-017-041 KIT 0.197 0.520 YELLOW CHROMATE
160-000-017-042 BULK 0.197 0.520 YELLOW CHROMATE
160-000-018-041 KIT 0.197 0.669 YELLOW CHROMATE
160-000-018-042 BULK 0.197 0.669 YELLOW CHROMATE

] NN
10 e L
i i e M LR
SCALE: SHEET OF REV

NorComp

DWG NO.

160-000-01X-0X1




